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Question 1 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

For each question, choose the most suitable answer. (14 x 2 marks)

Four bar magnels with ther ands marked A 1o H 0 be arranged as shown baiow,

Which al the iollowing diagrams shows 8 possible arrangement of two of tha
magnets’?
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Tha dagram below shows a compass. |l has a small magnet thet can rolala frealy,

south poke af
amall magneal

Two compassas ara placed rear a bar magnet,

Which disgram most fikely shows Ihe dredions of the small megnets In the
COMpazass?

magnet

magnet

N>,
- S
S = &
@ 0,

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 27th Sep 2021

Last Modified: N/A
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Stughy the diagrsm shown befiow. The man could @2 (he rocks in the presencs of

fgtd,

MHEEHE. e

iafhich of the following cormecily describes the path of ight that aliows the man to se
tri rocks ¥

A. from rocks to headlamp to man
from rocks to man to headlamp
v C. from headlamp to rocks to man

D. from headlamp to man to rocks

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 27th Sep 2021

Last Modified: N/A

QID#: 29,147,047
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Which of the following statements about the differences between inhaled and exhaled air is correct?

A. Inhaled air is warmer than exhaled air.
Inhaled air contains less dust than exhaled air.
¥' C. Inhaled air contains less water vapour than exhaled air.

D. Inhaled air contains more carbon dioxide than exhaled air.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 27th Sep 2021

Last Modified: N/A

QID#: 29,147,059
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Gopal has two shesls of diffsrant materdals Wik difsrent shapes ot oul in the maddls.

| I/""H._ll_.-'— |l

Fede ___H"Il-l".__‘ I1':' ami \ JJ}‘I | 10 &
e v hiola "f;ff_ _!

ghaef K shaat L
{candbaard) {tracirg paper}

He gled the two shaels fogethar and placed the shesls batween @ forch and = sargan
&5 shimn balow.

| BGrewn

Wehich of fa fodicwsing ooireclly shows the shadow [hal would be fmned on the screen’?

https://www.classmarker.com/a//tests/test/?test_id=1822980 5/32


https://0cm.classmarker.com/10070943_N8NGL06W.jpg

10/31/21, 1:16 PM ClassMarker - Manage Test

D.
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,067
Question 6 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

https://www.classmarker.com/a//tests/test/?test_id=1822980 6/32


https://www.classmarker.com/a/tests/qb/manage/?test_id=1822980&question_id=29147067
https://www.classmarker.com/a/tests/qb/manage/?test_id=1822980&question_id=29147067&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1822980

10/31/21, 1:16 PM

surfaces. Lesvss lose walbar ilough the stomadla,
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Judy sat up an experiment using threa similar leaves, B, L and M. Thase lssves have
mare openings known a5 stomats on helr boliom surfaces than on [her 1op

She ooaled soma surfacas of the lesves with dear ofl hat did not drip. She weighed
sach el and hung the leaves n endpen ares as shoen balow.

bz,

mass ol 4

seal {g)

leaf K lgaf L boal i

L
leal L lead |

After eight hours, she weighed each leafl again. Her resuils sne shown in the graph

ey ]

]:I--ﬂ.l":'uu:a.rl ]
i ANer & hours \

WWhich of the folowdng comectly describes leaves K, L and M7

A. | Both surfaces coated Only the bottom surface
with oil coated with oil

Only the top surface
coated with oil

K L

M

B. |Both surfaces coated Only the bottom surface
with oil coated with oil

Only the top surface
coated with oil

K M

L

Both surfaces coated | Only the bottom surface
with oil coated with oil

Only the top surface
coated with oil

M L

K

D. |Both surfaces coated Only the bottom surface
with oil coated with oil

Only the top surface
coated with oil

M K

L
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Question 7

Dhurifgy
ball aftor b kicked it

Kal

Alkomg the pasth of the ball, what could have changed?

A mass of {ha ball
B spaad af B hall
= : shape of lhe bal
0 diraction of {he Bal

B only
A and D only

v' C. BandD only

o

A, B and C only

Question Type: Multiple Choice
Randomize Answers: No
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Last Modified: N/A
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a soccar garma, Kai kideed 5 bad i Tder, The diagram shows the palh of tha
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Deajan conducled an axpeimant using the sal-up below,

Defan gave back K a push, The block moved a distance o along the swlace: bafarg
slopging.

The experment was mpaaiad an different types of sudaces
Whel was Dejan brying io find a7

v" A.  whether the type of surface affects distance d
B. whether the weight of the block affects distance d
C. whether the strength of the push affects distance d

D. whether the material of the block affects distance d

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 27th Sep 2021

Last Modified: N/A

QID#: 29,147,167
Question 9 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Hala conducled an axpesiment ina dark room using ihe sal-up Shown below.

— gliasn
lank

= saakar

Ha saifched on the leme and counled e rumber of bubbles o waler plants
produced in one milrugs 8t regular e irtervals

He absarved that the number of bubles produced par minuis by the water plant
decregsed with Uma, This was most fkely caused by a bk of

A. water
oxygen
C. chlorophyll

v D. carbon dioxide
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Question 10 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Alni eonductad an experiment wsing four springs, W, X, ¥ and 2, sach of squal lengih
whan insiretched,

She hung 8 metal rod M from two of the springs a1 an agusl distience apart. The
resulls of har eeperiment are showng below,

Ry

in another axperimant, sha bung four agual masses from aach af B springs.

Witich of the following comeclly represants how the four springs wil be stetched?

wl x| v| z
v B
Wil X| Yl Z
L]
C.
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Shanti poncducted an expaiment using a plant. A the stard of the experiment, therm
wiks N garch on the laaf,

Ship covered part of a leal with bleck papar as shoan balow,

Il

bk papar
{ooverng Uhe
top and ballam
sinfaces of tha

taad)

+ The plant was hen pul n ha sun.

wikiibe area

ghesn aras

Afer sevaral hours, the baed was plucked off and tha back paper was removed, The
fead was tesbad for starch, In widch ol e areas &= starch lound?

v A. Conly
B. Donly
C. AandBonly

D. CandD only

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,208
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#im carmad out an expenment using threa metal balls, A, 8 and C,
The (hree balls wers of the same sizs,

dent ¥

= il

She dropped the balfs from different haights onio a contalner of sand,
She measured the depth of tha circulier dent created by each ball on the sand.

Her resulls are shown befow,

Bal Height at which the ball |  Depth of dent |

was dropped (cm) created (cm) |

A a0 2 |
B &0 o
¢ | 20 | 2

Which of the fodlewing most [kehy shows the mass of the thres balis?

A. |Ball A|Ball B|Ball C
15g |20g |25¢

v B. |BallA|BallB|BallC
15g |10g |25¢g

C. |BallA|BallB|BallC
20g |25g |15¢

D. |BallA|BallB|BallC
20g |15g |20g

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Mon 27th Sep 2021

Last Modified: N/A

QID#: 29,147,243
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Deena carried oas an axperimant by hanging three balls, X, Y and 2, using lhiee
Kentcal rubber bands on a fixed pols,

The resulls of her sxpaimant ars shown befow.

__nuibber
band
bsaill X O
bl X
bafl ¥

Which af the fellowing slalsmients aboul Ihe axpediment i= dalinitety rua?

v A, BallYhasa greater mass than ball X.
Ball Y has the least amount of gravitational potential energy.
The gravitational potential energy of each of the balls is zero.

The amount of gravitational force acting on each of the three balls is the same.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Mon 27th Sep 2021

Last Modified: N/A

QID#: 29,147,260

Qu estion 14 Primary 6 Science » Primary 6 Science (Term 1)

The diagram below shows & loy,

Whan tha boy s placed under the Sum, the soles cell in tha scfar penel absorbs
anay lom the Sur and tha oy movas forsmsnd.

Which enengy receivad by the solar panel s used 1o produce elacticily?

v A. light energy
B. kinetic energy

C. sound energy
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D. potential energy

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Mon 27th Sep 2021

Last Modified: N/A

QID#: 29,147,264
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The diagrarm befow showa Bwo Maenlicsl ring magnels pessing fhiougin & smogth
wooden rod. Magned A B suspended while magnet B rests on a flked end of the

woaden rod. !

fixed end of
woslan rod

What property of magnets allowed magnet A to be suspended? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,278

Correctly answered feedback

Concept: Like poles of magnets repel each other.

Incorrectly answered feedback

Concept: Like poles of magnets repel each other.

Question 16 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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The dimgram befow showa fwo Menlical fng magnals pessing theough & smogih
wooden rod. Magned A B quspended while magnst B resfs on a fixed end of the

wosden rod. L

fixed end of
woadan rmod

The gap between magnets A and B show the interaction of two main types of forces. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,285

Correctly answered feedback

Concept: Types of forces
Magnetical force of repulsion.
AND

Gravitational force / gravity / weight.

Incorrectly answered feedback

Concept: Types of forces
Magnetical force of repulsion.
AND

Gravitational force / gravity / weight.

Question 17 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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The dimgram below showa o Kanlicsl Mg magnals pessing I:l'.-l-'.l-l,lu-h a smooth

wooden rod. Magned A B quspended while magnst B resfs on a fixed end of the

wosden rod. L

fixed end of
woadan rmod

Zhi Hong tried to push magnet A towards magnet B. He found that he needed to push harder as the
gap between the magnets decreased. Explain why. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,292

Correctly answered feedback

Concept: Interaction of forces

The magnetic force of repulsion increased as the gap between the magnets decreased.

Incorrectly answered feedback

Concept: Interaction of forces

The magnetic force of repulsion increased as the gap between the magnets decreased.

Question 18 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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Eunics want=d Io find out the effect of jemperaiurs on he rabe of photosyrithesis of
plani X, Sha set up an experiment in & darfk foom as showm balow.

- ihermometer
rasl-iuba
%= 4 - bubbia
H lamp
- Tuler
plant X et
Sha swilched on the amp and countad the numéer of Bubbies produced by plant X in
afe miniia,
Eunics repeated fhe experiment with water of dilferent temparaturas, Hes resulls are
shiown balow
rusmbar of bubbdes

producad in cos minuds g
; T |
Fe
108 — - -
LN
HI - = — —
o} — j/_f”. P "
20 +—— =
N C T 3

0 & 10 15 20 26 30 35 40 lempsrature(*C)

Based on her results, what can Eunice conclude about the effect of temperature on the rate of
photosynthesis of plant X? (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,351

Correctly answered feedback

Concept: Reading the trends in a line graph
As the temperature increases from 5°C to 30°C, the rate of photosynthesis increases.

As the temperature increases from 30°C to 40°C, the rate of photosynthesis decreases.

Incorrectly answered feedback

Concept: Reading the trends in a line graph
As the temperature increases from 5°C to 30°C, the rate of photosynthesis increases.

As the temperature increases from 30°C to 40°C, the rate of photosynthesis decreases.
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Question 19 Primary 6 Science » Primary 6 Science (Term 1)

Eunics wanted 1o find out the effect of temperaturs on the rabe of photosyrithesis of
plani X, Sha 55t up an experkment in & diark foom as showm balow

- thesmometer
res-iubs
ns 4 - bubbie
E lamp
= milar
plant X =
Ghe swilched on tha amp and countad the number of Bubbies produced by plant X I
ane minisga,
Eunics repeated fhe experiment with water of dilferent temparaturas, Hes resulls are
shirwn Bakbw
rumbar of bubdres

IJMHLU_ngl:flnmaminm

e s S N

B 4= :\ =

0l 175 e .

» J sl | o

0 1 -I *'//
L~ | | &

D L] g T L] :
o 5 W 15 20 28 3 35 40 lemparaturs (%0)

Eunice kept the distance between the lamp and plant X the same throughout the experiment. Give a
reason how this action helps to make the experiment a fair test. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,360

Correctly answered feedback

Concept: The amount of light reaching a plant affects the rate of photosynthesis.
The amount of light reaching the plant would be kept the same.
OR

The amount of light that the plant gets would be kept the same.

Incorrectly answered feedback

Concept: The amount of light reaching a plant affects the rate of photosynthesis.
The amount of light reaching the plant would be kept the same.

OR

https://www.classmarker.com/a//tests/test/?test_id=1822980
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The amount of light that the plant gets would be kept the same.

Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Question 20

Eunics wantsd 1o find out the effect of lemperaturs on the rabe of photcsyrithasis of
planl X, She 56t wp an experiment in a dark room as shown balow.

ihesmmomeler
tasl-iuba
2 . bubbie
1* lamp
Tuar
plant X S
Gha swilched on 1he lamp and countad the number of bubbies produced by plant X in
ane minuta,
Eunioa repeated 1he expenment with water of diferent temparatures, Hes resulls are
shra Bealow,
numbar of bubddes
produced in one minus ;
i |
fr“'

100 4— ,,-f’ﬁ\

T 1N

. C 71 .
P \

L0 9 o , ‘1 -

o 5 o 16 20 28 30 35 4|:| lEmparatura {“C)

\I

ﬁm addad plant X to a small fish tank with some fish. The tenk was placed in a wall-
.

pEnt X

ahe absanved that the braathing rate of Ihe Eh increased whan the lemparaturs of Ha
watar [n tha fank increased from 32 3 o 36 °C.

Using the resuls from Eunize's sxpeddmant on plant X, explain why the brealhing rata
dl the fsh incraased. [2]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,371

Correctly answered feedback

Concepts: Plants produce oxygen during photosynthesis and fish takes in oxygen for respiration.

As the temperature increased from 32 to 36°C, the rate of photosynthesis decreased, the amount
of oxygen produced by plant X decreased.

Thus, the fish need to breathe faster to take in enough oxygen from the water.

Incorrectly answered feedback

Concepts: Plants produce oxygen during photosynthesis and fish takes in oxygen for respiration.

As the temperature increased from 32 to 36°C, the rate of photosynthesis decreased, the amount
of oxygen produced by plant X decreased.

Thus, the fish need to breathe faster to take in enough oxygen from the water.

Question 21 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Asman usad the sat-up below o conduct an experimant. He used a #ght sensor o
measurs e amaunt of fght on the scraen
fight s@nsor

shadow L BRI

‘\\ A
tmrch wnndern abjecd

{E_-b }Q N bength of
\\ shadow

He varied tha posiion of ane of fha Hems in fhe Sobp snd rectrded hie cbesrwatons
for each postion as folows. ¥

Light sensor rnm:l].n.g q.unll-n} Length of shadoe [om) B
i e
50 ]
B i

State how the shadow on the screen was formed. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,379
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Correctly answered feedback

Concept: A shadow is formed when light is blocked.

The object blocked light from reaching the screen.

Incorrectly answered feedback

Concept: A shadow is formed when light is blocked.

The object blocked light from reaching the screen.

Question 22 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Asman usad the sat-up below o conduct an experimant. He used a #ght sensor o
meaurs e armaunt of fght on iha scraen
fight s@ngor

shadow L BRI

‘*-.R #
tmrch wnndern abjecd

ﬂ:b i LT -% ---- T tength of

\\‘\J shadow

He varied tha posiion of ane of fha Hems in fhe Sobp snd rectrded hie cbesrwatons
for each posiion &S lollows. !

Light sensor reading (unite} | Length of shadow [cm)
et fn
250 9
120 E

Asman's friend, Ramsy, said that Asman had moved the wooden object towards the torch. Based on
the experimental results, give two reasons why Ramsy was wrong. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,413

Correctly answered feedback

Concepts:

- As the distance between the light source and sensor decreases, the amount of light reaching the
sensor increases.

- As the distance between the object and the light source decreases, the length of the shadow
increases.

If the object was moved towards the torch, the amount of light reaching the light sensor should not
change / should remain the same.

If the object was moved towards the torch, the length of the shadow should increase.

Incorrectly answered feedback
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Concepts:

- As the distance between the light source and sensor decreases, the amount of light reaching the
sensor increases.

- As the distance between the object and the light source decreases, the length of the shadow
increases.

If the object was moved towards the torch, the amount of light reaching the light sensor should not
change / should remain the same.

If the object was moved towards the torch, the length of the shadow should increase.

Question 23 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Asman usad fhe sal-ip belew to conduct an experiment. He used & fght sensar o
measure e amaunt of ight on the acrasn

fight sénsor

shadow L SR
F

mrch wonden abjscd

{Kh LTI \-\Q e tength of
\\ shadaw

He varled tha positian of o of the ems in fha sal-up @nd rectrded his obesnatons

for each postion as folows.
Light sensor rna:l].n.g q.unlhzjn ~Length of shadow |cm) 2t
120 15
50 9
320 a

Based on the experimental results, did Asman move the torch, wooden object or screen? Describe the
change he had made to the position of the item. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: Mon 27th Sep 2021
QID#: 29,147,423

Correctly answered feedback

Concept: As the distance between an object and the screen decreases, the length of the shadow
decreases.

He moved the screen towards the object.

Incorrectly answered feedback

Concept: As the distance between an object and the screen decreases, the length of the shadow
decreases.

He moved the screen towards the object.
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QU estion 24 Primary 6 Science » Primary 6 Science (Term 1)

Al panducled an expenmant using adoy car, a rainp and 2 100 g box a= shown below.

~ Loy Al
0 100 g o

e ¥

ranmg

surface 7

He redeased the lay car from the top of e smmp and recorded Ba distancs travelied by
Islg;mﬂg box on surface Z. He repasisd the expariment wilh 8 400 g box of the samea

Tha table below shows the results of his mperimeant

Distance travelled on surface Z (om)
First try Second try Third Try Avarage
| 100 50 43 57 50

| 5 B
—4

| 400 14| 18 16 16

What is the relationship between the mass of box and the distance travelled by the box on surface Z?
(1 mark)

Masa of box {g)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,509

Correctly answered feedback

Concept: State relationship between variables

As the mass of the box increases, the distance travelled by the box on surface Z decreases. ( more
friction)

Incorrectly answered feedback

Concept: State relationship between variables

As the mass of the box increases, the distance travelled by the box on surface Z decreases. ( more
friction)

Qu estion 25 Primary 6 Science » Primary 6 Science (Term 1)
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Al panducled an expenmant Lsing a foy car, a rainp and 2 100 g box as shown below,

106 g bo

Z

ramp

cufars T

He redeased the tay car from the top of e mmp and recorded Ba distancs travelied by
ther 10 g box on surface Z. He repasted the axpariment wilh 8 400 g box of the sama
B,

Tha tabla below shows the resulls of his eperimant

- (1]
Wi 8 b (i stance travelled on surface Z (cm)
~ First try Becand try Third Try Avarage
_| 100 =0 43 57 50
| 400 14 | 18 16 T

Based on the readings, the distance travelled on surface Z was different in each of the three tries.

Give a possible reason why this was so. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A

QID#: 29,147,535

Correctly answered feedback

Concept: Generating possibilities
The method of releasing the toy car was different.
OR

The starting point at which the toy was released was different.

Incorrectly answered feedback

Concept: Generating possibilities
The method of releasing the toy car was different.
OR

The starting point at which the toy was released was different.

Question 26

https://www.classmarker.com/a//tests/test/?test_id=1822980
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Al panducled an expenmant Lsing a foy car, a rainp and 2 100 g box as shown below,

ramp

~Eoy Chf
106 g bo

Z

cufars T

He redeased the tay car from the top of e mmp and recorded Ba distancs travelied by
ther 10 g box on surface Z. He repasted the axpariment wilh 8 400 g box of the sama

i,

Tha tabla below shows the resulls of his eperimant

Distance tra
M of bk (i) stance travelled on surface Z (cm)
First try Becand try Third Try Avarage
_| 100 20 43 57 50
| 100 14 | 18 16 T

Ali wanted to increase the distances travelled by the boxes. His classmates suggested that he could
add oil to the surface of the ramp.

Do you agree with his classmate's suggestion? Give a reason for your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type:
Date Added:
Last Modified:
QID#:

the toy car.

the toy car.

Question 27

Essay

Mon 27th Sep 2021
N/A

29,147,554

Correctly answered feedback

Concept: Ways of reducing friction

Yes. Adding oil to the surface of the ramp reduced the friction between the surface of the ramp and

Incorrectly answered feedback

Concept: Ways of reducing friction

Yes. Adding oil to the surface of the ramp reduced the friction between the surface of the ramp and

Primary 6 Science » Primary 6 Science (Term 1)
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In-an axpariment, an inflsied baBoon was pluad ko 8 boy car B3 shown Below
AL alrwas rehspsid om e balloon which canmsed the: car io move forssard.
Al B, s the &7 had escaped but the car confinusd bo miove forwand,

Al C; the car came o a8 slop.

baffoon ——,

ground

A e 2]

What was the source of energy that caused the car to move at the beginning of A? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,836

Correctly answered feedback

Concept: Identifying constant variables for a fair test
The compressed air (in the balloon)
OR

Air escaping (from the balloon)

Incorrectly answered feedback

Concept: Identifying constant variables for a fair test
The compressed air (in the balloon)
OR

Air escaping (from the balloon)

Question 28 Primary 6 Science » Primary 6 Science (Term 1)
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In am axparimeant, an inflsiad DEIHJ-DHWE‘EHHHHE [ﬂ'fﬂ:ﬂ.l’ BE shown Beslow
AL alrwas rehspsid om e balloon which canmsed the: car io move forssard.
Al B, s the &7 had escaped but the car confinusd to miove forwand,

Al C; the car came o a8 slop.

baffoon -

ground

an

A e ]

Give a reason why the car continued to move forward from B to C. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,854

Correctly answered feedback

Concept: Kinetic energy enables an object to move.

The car still has kinetic energy at B so it can move to C.

Incorrectly answered feedback

Concept: Kinetic energy enables an object to move.

The car still has kinetic energy at B so it can move to C.

Qu estion 29 Primary 6 Science » Primary 6 Science (Term 1)

In am axparimeant, an inflsiad Dﬂmﬂﬁmmhﬂ [ﬂ'fﬂ:ﬂ.l' BE shown Beslow
AL abrwas fehsasid Fom e balloan which canmsed the car io move Torssard.
Al B, af the av had escapad but tha car confinued o meve forward,

Al G, the car came o a8 shop.

bafloon -

ground

an

A ) c

What caused the car to stop moving after some time?

Accepted answers:
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v Friction

¥’ Frictional force

Question Type: Free Text

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,864

Correctly answered feedback

Concept: Identifying the force based on its effect.

Friction / Frictional force

Incorrectly answered feedback

Concept: Identifying the force based on its effect.

Friction / Frictional force

Qu estion 30 Primary 6 Science » Primary 6 Science (Term 1)

In-an axpariment, an inflsiad bafoon was gluad ko 8 boy car s3 shown Below
AL airwas rehsesiéd Fom e balloon which cansed the: car io move forssard.
Al B, s the &7 had escaped but the car coninusd bo miove forwand,

Al G, the cr came o 3 slop.

bafloon ——,

grotnd

Using only the materials given in the experiment, suggest one way to make the car move a longer
distance in the experiment. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,880

Correctly answered feedback

Concept: Suggesting ways to change the amounts of energy, given a condition.

Blow more air into the balloon.

https://www.classmarker.com/a//tests/test/?test_id=1822980
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Incorrectly answered feedback

Concept: Suggesting ways to change the amounts of energy, given a condition.

Blow more air into the balloon.

Question 31 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Meiling has & wing fubing wilh two blades as shewn bedow in dagram 1.
Diagram 2 shews the inside of part M of the wind urbine,

Diagraim 1 Dlagram 2
5 rt M part N - ‘BEnaracy
blada
C cornecled o hlads
wind turbing e

She placad tha wind turbine in front of a fan as shown below,
Shre cebaerved hel the biades spun and the lamp 1E wp,

wind lurbing

Fill in the boees bakoe 1o ghow the energy changes thal took plocs. 2]
& || - +
By el el anargy . BTy
ispinning [erwrator) (lamp} amp)
biades)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,913

Correctly answered feedback

Kinetic ----- > Electrical ----- > Light + Heat

Incorrectly answered feedback

Kinetic ----- > Electrical ----- > Light + Heat
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Question 32 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Meifng has a wind furbine with two blades as shown below in dagram 1.
Diagram 2 shows the inside of part M of tha wind turbine,

Dizgram 1 Diagram 2

eorrecled o
lamge

wind turbina

She placed the wing urbing in frent of afan as shown below,
She obaerved hal the blades spun and the lamp 1L wp,

wind lurbing

Meiling placed the wind turbine closer to the fan. She observed that the blades of the wind turbine spun
faster and the lamp lit up more brightly.

Explain, in terms of energy changes, why the lamp lit up more brightly when the blades of the turbine
spun faster. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Mon 27th Sep 2021
Last Modified: N/A
QID#: 29,147,931

Correctly answered feedback

Concept: As the mass / height of an object increases, the amount of gravitational potential energy it
possesses increases.

More kinetic energy of spinning blades of the turbine is converted to more electrical energy to light
up the bulb.

Incorrectly answered feedback
Concept: As the mass / height of an object increases, the amount of gravitational potential energy it
possesses increases.

More kinetic energy of spinning blades of the turbine is converted to more electrical energy to light
up the bulb.
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